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29577 58%> will prove — Y7159 21971 IRYD

Overview

We derive X317 10X by 2972 wa starting with a 797wn 1"p. This 1"p is
initially refuted since n97¥ has no w127 nyw. This refutation is rejected
because 121 ynn. This 31 is rejected since ynri is N7 Wy, The XA
refutes this rejection through 07571 °&%5 which is not N2 w1y (and nyw 1% w°
w1577) and is nevertheless 1X1772 TMOK; so too should 1122 be X172 MOK. Our
MooIn explains why the X773 did not use (two) other options to teach us MR
X317 by n"a2.

= NY2IN DYDY NI 799 (3p0p pony TWAN DD PH92
In =277 %2 poo the X nx asks (that after we say N2 Wiy pw ynan? ) ‘and
let us say that 797y will prove’ that 13 vy is not sufficient reason to be 710X
X172, for by 777 there is no N7 W and nevertheless it is 7X172 MoK (why is there a

need to say 7°21 07377 °K72)!
—aum

And the X 1) there answers this question.

Mmoo responds to an anticipated question:
—9INY D991 INDIN 1981 NN qumb NN NINT PNYY 139299 NN

And the >''9 maintains that (even though) we could have derived "0°X
X117 by 2912 w2 through a 9%7» 72 from 295577 3892 alone; without resorting

to the 777w 1" and the 27 from y»1 and 2757 °X72. The 17 71 would be as follows:
— ANYNAY A9YINT NONY *NYray 13 NTAY) 19V 0950 INYS Ny

" The xn3 there explains that if we would have responded r°2v 797y we then would have said 19w 79w
R nYw a2 ana X7 and respond oY yan, ete. It would turn out that we would (attempt to) derive the
TRI7 IO°R by 1122 through a Mw:i 7% of ynm 7927y, The rule is that a mw: 7¥ can be refuted with a %3 8>
177 (even if it is not a X1 [or X73p]); we would therefore say ¥pap *217°3 1ow mwi 7877 an, and 2572 w1 is
not ¥pp N7, therefore n"2a cannot be derived from this 7w 78. Now however that we say 2737 *X9
17°57 and there is no X37°5 on 01577 °X22, then the 7w°% from the 79791 1"p together with the two o1 of yan
0171 °R991 is stronger than a Mw:i 7% (for there is no X37° on 017 X5 [it is W57 nyw 7% w° and not Wy
N2 just like 71"23]). In a 7% with two 1°3v (of three 0>71%») when there is no X37°5 (on one of the 2>%n),
we cannot refute it by a 717 95 X370 (but rather it requires a 837°9 of a X1 [or ¥717]). We cannot therefore
say YpIp "NTa 12w (2OK9 v ,27w) 1337 n. [See X701 "7 X,T0p 120 mMoon that by *nann R0 even if there
is no P77 M we can use a 17 93 X0, According to that mooin it would (seemingly) be necessary to
amend the X073 in the 5"waan here on our NvOIN; from 'RNX "5R' to 'RNX OX'. See R"wAn on the 7"7 XM
nxr.] This rule of %17 %3 X379 117375 XY also applies when deriving through a 1381 7 of one 7191 ([even]
without a 1"p). This explains the n1vOINT TwA.

* mooin (seemingly) means that we could derive the 7X37 10X from 2°%93, but not 72X MK (even though
both @°X%> and 122 are 77°2y 1 17231) for we would say 17 191 1AM w2 WAL See DR 77 2,70 MOON.
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For just as by 29277 587> where an 7792y was done with the o°k?2 and it is

793982 7oK and (therefore) N2 -

—9999) AYNAa WA NYAN %N N
I will therefore also include 1''23, etc.; where an 772y was performed with the
n"22 and it is 777982 70K, it should also be 7X172 MOX. However the X i chose not to

derive "2 from 0727 °K92 directly -
500 BYINT 929N 53 937 Y9 991Y 1YY NNYI NN

But rather the X713 preferred to derive the 11""22 7X17 70°X from all these

three (28921 ynn 797y) through a v'p (from 797w) for this is a stronger
lesson.

Summary
It is preferable to derive a ruling from a1"p ([even] with a 1°21°) than from a

straight 11°¥» 7n (where either cannot be refuted).

Thinking it over
1. When we derive a ruling from a 7w 7% (through '77 711'), does the
initial 1" remain?

2. There is a rule that 177 12 w1 PR (from a 1"?). What would be the rule
concerning a 11°X» 7n; would there be an wny?’

? The reason Md2N mentions 772y 12 77201 19¥" (even though that for this 11°%¥» 7n it would be sufficient
just to mention that 2°X?3 and n1"22 are both 7727582 70K) is to prevent us from asking 7°51n (2"127) 79°21 that
it is X172 MM 79°582 MoR. However by n12°21 there is no 7702y 12 772w, therefore there is no &30, It is
also important to mention that 72°582 10K, for otherwise we could say 117°31° 7779 %0 QOIM NAM MW W,
that 77°2y 072 77291 and nevertheless they are (77°2X27) 7R3 207, (See ['27 JnR 7"7 2,75 MooIn.)

* mooin does not explain the application of this *ov 2°9% of a 1"p over a 1°%» An. See '} 995 D°pry MWW who
states (in the '8 19IX) that if there is a X% 11°%n 7 and a X972 1"p we will follow the X995 1"p (even
though generally we say 13wpn R12).

% See n'"vx. See following *X22%  71"7 Moo footnote # 4.
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